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5cm 50¢cm 100¢cm

Ot hLER (1) 0.09 0.09 — PA-1000
QBREIZAT1 0.07 0.08 — PA-1000
QR RERER 0.10 0.10 — PA-1000
@REEILER 0.05 0.04 — PA-1000
ORERE 0.09 0.09 — PA-1000

1/17(A)EN
O RErRER 0.08 0.07 — PA-1000
DREBF2 0.06 0.05 — PA-1000
@mMET 0.07 0.07 — PA-1000
QfiEL 0.06 0.08 — PA-1000
Fbi5 0.08 0.08 — PA-1000
Ot hLER (L) 0.08 0.09 — PA-1000
QBREIZAT1 0.08 0.09 — PA-1000
QR RERER 0.09 0.09 — PA-1000
@REEALER 0.07 0.08 — PA-1000
O RETEER 0.08 0.09 — PA-1000

7/30(&)EY
O ERE 0.07 0.07 — PA-1000
DREHZ2 0.08 0.09 — PA-1000
@FmMET 0.05 0.04 — PA-1000
OfEL 0.05 0.06 — PA-1000
b5 0.07 0.07 — PA-1000
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5cm 50¢m 100c¢m

Ot ehivER (L) 0.08 0.10 — PA-1000
QREHFT1 0.09 0.10 — PA-1000
O BER AR 0.08 0.08 — PA-1000
@BEIL A 0.07 0.09 — PA-1000

0GB G BETH 0.08 0.10 — PA-1000
O BEF A 0.09 0.10 — PA-1000
DREHF2 0.08 0.08 — PA-1000
@M T 0.08 0.09 — PA-1000
OflIEL 0.06 0.07 — PA-1000
i 0.07 0.10 — PA-1000
@t ER (L) 0.08 0.09 — PA-1000
QREHFT1 0.08 0.08 — PA-1000
O BER A 0.07 0.08 — PA-1000
@BEILED 0.08 0.07 — PA-1000

5/15(8) HEh, O BETEER 0.09 0.09 — PA-1000
O ERER 0.08 0.09 — PA-1000
DREBF2 0.06 0.08 — PA-1000
@M T 0.06 0.06 — PA-1000
QfE L 0.07 0.08 — PA-1000
w15 0.08 0.08 — PA-1000
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Ot ehivER (L) 0.07 0.08 — PA-1000
QREHFT1 0.06 0.07 — PA-1000
O BER AR 0.08 0.09 — PA-1000
@BEIL A 0.06 0.05 — PA-1000

/B G BETH 0.08 0.09 — PA-1000
O BEF A 0.08 0.10 — PA-1000
DREHF2 0.06 0.07 — PA-1000
@M T 0.11 0.11 — PA-1000
QfiliEL 0.08 0.08 — PA-1000
i 0.08 0.08 — PA-1000
@t ER (L) 0.07 0.09 — PA-1000
QREHFT1 0.07 0.07 — PA-1000
O BER A 0.08 0.11 — PA-1000
@BEIL BB 0.04 0.05 — PA-1000

. O BETEER 0.08 0.10 — PA-1000
O ERER 0.08 0.11 — PA-1000
DREBF2 0.06 0.08 — PA-1000
@M T 0.06 0.07 — PA-1000
QfE L 0.08 0.08 — PA-1000
w15 0.08 0.10 — PA-1000
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5cm 50¢cm 100¢cm

Ot hLER (1) 0.07 0.07 — PA-1000
QBREIZAT1 0.07 0.09 — PA-1000
QR RERER 0.09 0.08 — PA-1000
@REEILER 0.06 0.05 — PA-1000
ORERE 0.08 0.10 — PA-1000

11/70K) Y
O RErRER 0.10 0.09 — PA-1000
DREBF2 0.06 0.06 — PA-1000
@mMET 0.10 0.07 — PA-1000
QfiEL 0.07 0.08 — PA-1000
Fbi5 0.07 0.09 — PA-1000
Ot hLER (L) 0.08 0.09 — PA-1000
QBREIZAT1 0.06 0.06 — PA-1000
QR RERER 0.10 0.10 — PA-1000
@REEALER 0.07 0.08 — PA-1000
O RETEER 0.11 0.10 — PA-1000

5/14(R)EEN
O ERE 0.06 0.05 — PA-1000
DIREB2 0.12 0.12 — PA-1000
@FmMET 0.06 0.08 — PA-1000
OfEL 0.08 0.07 — PA-1000
b5 0.08 0.08 — PA-1000

5/23 (ER5)



R ERICHE T MR R ERR

FriEH : mal1-6-1
F R 294F BE
B H - X IR 5t AEBATOY—AEBE) | e e
5cm 50¢m 100c¢m

Ot ehivER (L) 0.06 0.06 — PA-1000
QREHFT1 0.10 0.09 — PA-1000
O BER AR 0.11 0.11 — PA-1000
@BEIL A 0.09 0.08 — PA-1000

/6O G BETH 0.10 0.09 — PA-1000
O BEF A 0.13 0.11 — PA-1000
DREHF2 0.06 0.05 — PA-1000
@M T 0.08 0.08 — PA-1000
OflIEL 0.12 0.11 — PA-1000
i 0.09 0.09 — PA-1000
@t ER (L) 0.08 0.08 — PA-1000
QREHFT1 0.08 0.07 — PA-1000
O BER A 0.08 0.09 — PA-1000
@BEIL BB 0.05 0.05 — PA-1000

5/100K) BY O BETEER 0.09 0.09 — PA-1000
O ERER 0.09 0.10 — PA-1000
DREBF2 0.05 0.06 — PA-1000
@M T 0.12 0.08 — PA-1000
QfE L 0.08 0.08 — PA-1000
w15 0.11 0.11 — PA-1000
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Ot ehivER (L) 0.09 0.10 — PA-1000
QREHFT1 0.19 0.17 — PA-1000
O BER AR 0.14 0.13 — PA-1000
@BEIL A 0.05 0.05 — PA-1000
H/GKO H G BETH 0.09 0.10 — PA-1000
O BEF A 0.09 0.09 — PA-1000
DREHF2 0.06 0.07 — PA-1000
@M T 0.07 0.08 — PA-1000 |FERL284E11 BBIEA DB
OfliE L 0.08 0.10 — PA-1000 |FRZ28411 R BIFEHADEM
i 0.10 0.11 — PA-1000
@t ER (L) 0.06 0.08 — PA-1000
QREHFT1 0.08 0.10 — PA-1000
O BER A 0.08 0.12 — PA-1000
. @BEIL BB 0.04 0.05 — PA-1000
O BETEER 0.07 0.10 — PA-1000
O ERER 0.09 0.13 — PA-1000
DREBF2 0.06 0.07 — PA-1000
wi5 0.09 0.13 — PA-1000
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5cm 50c¢m 100¢cm

Ot hLER (1) 0.10 0.10 — PA-1000
QBREIZAT1 0.07 0.09 — PA-1000
QR RERER 0.11 0.12 — PA-1000
@REILE 0.05 0.06 — PA-1000

11/10C) EY
ORERE 0.10 0.11 — PA-1000
O RErRER 0.11 0.13 — PA-1000
DREBF2 0.06 0.08 — PA-1000
b1 0.13 0.13 — PA-1000
Ot hLER (1) 0.08 0.08 — PA-1000
QR BB 0.09 0.12 — PA-1000
QR RERER 0.12 0.13 — PA-1000

_ @R EEAL AR 0.07 0.08 — PA-1000

5/12(K)EY
O RETEER 0.10 0.11 — PA-1000
O RERER 0.13 0.13 — PA-1000
DREBF2 0.06 0.08 — PA-1000
b5 0.13 0.13 — PA-1000

8/23 (ER5)



R ERICHE T MR R ERR

Fr#E#b . Bl 1-6-1
5 26 4 B _ \
AEA KR MR ARBRATEL—ZNEBR) | g %
5cm 50cm 100cm
Ot b ER (1) 0.09 0.11 — PA-1000
QREBAT1 0.08 0.06 — PA-1000 (2B 12BEIE
QI ERED 0.13 0.14 — PA-1000
" @ BEALE 0.07 0.08 — PA-1000
VORBI 1 mm 0.1 0.15 — PA-1000
@®ERED 0.15 0.14 — PA-1000
DREBF2 0.07 0.08 — PA-1000
fibis 0.09 0.09 — PA-1000
Ot ER (+) 0.07 0.10 — PA-1000
QREHZ1 0.10 0.15 — PA-1000
QR ERED 0.07 0.11 — PA-1000
sy | OBRELER 0.05 0.06 — PA-1000
O EY O BEF LR 0.10 0.11 — PA-1000
OEE 0.08 0.10 — PA-1000
DREZF2 0.06 0.08 — PA-1000
i 0.11 0.14 — PA-1000
Ot b ER (1) 0.07 0.08 — PA-1000
QREBZ1 0.08 0.10 — PA-1000
QR ERED 0.11 0.11 — PA-1000
- @R BEILED 0.05 0.06 — PA-1000
81N OB EERER 0.10 0.14 — PA-1000
OEGER 0.09 0.13 — PA-1000
DREZF2 0.06 0.07 — PA-1000
b i% 0.10 0.14 — PA-1000
Ot h i ER (1) 0.10 0.11 — PA-1000
QBREG1 0.10 0.14 — PA-1000
QR ERED 0.13 0.14 — PA-1000
- @RREILEB 0.08 0.08 — PA-1000
@ Hn O REER 0.11 0.12 — PA-1000
®r ErRED 0.09 0.10 — PA-1000
DREBZF2 0.07 0.08 — PA-1000
fibis 0.09 0.11 — PA-1000
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Ot h i ER (1) 0. 09 0.10 — PA-1000
QREBZ1 0. 06 0.10 — PA-1000
QR ERED 0. 11 0.14 — PA-1000
3./6(K) @REEILED 0. 06 0. 07 — PA-1000
L S BEFE LR 0. 09 0. 13 — PA-1000
@ ERED 0.10 0. 11 — PA-1000
DREBF2 0. 06 0.08 — PA-1000
fibis 0. 11 0.13 — PA-1000
Ot L ER (1) 0.10 0.13 — PA-1000
QR &S 0. 07 0.10 — PA-1000
QR ERED 0.12 0.16 — PA-1000
2./6(K) @R EALER 0. 05 0. 08 — PA-1000
A OB LD 0. 09 0. 14 — PA-1000
@ ERED 0. 09 0.13 — PA-1000
DBREH2 0. 06 0. 09 — PA-1000
ibis 0.13 0.17 — PA-1000
Ot ER (1) 0. 09 0. 11 — PA-1000

QREHFT1 0.13 0. 09 — PA-1000 1/10(%) #IE
. QRERED 0.10 0.14 — PA-1000
iF/ﬁESZ(?;#')' @R REILED 0. 06 0. 08 — PA-1000
<y O EFED 0. 10 0.12 — PA-1000
®ErRED 0.17 0.19 — PA-1000
DREBF2 0. 07 0. 09 — PA-1000
whi5 0. 09 0.13 — PA-1000
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5cm 50¢cm 100cm
Ot h i ER (1) 0. 09 0.10 — PA-1000
QREBZ1 0. 07 0.10 — PA-1000
QR ERED 0. 11 0.13 — PA-1000
12,/4(5K) @ELER 0. 07 0. 08 — PA-1000
En S BEFE LR 0.10 0. 13 — PA-1000
@ ERED 0. 09 0.12 — PA-1000
DREBF2 0. 06 0.10 — PA-1000
fibis 0.10 0. 15 — PA-1000
Ot L ER (1) 0.10 0. 11 — PA-1000
QR &S 0. 07 0.10 — PA-1000
QR ERED 0. 11 0.14 — PA-1000
11./6(K) |DREILED 0. 08 0. 08 — PA-1000
An OB LD 0.10 0.12 — PA-1000
@ ERED 0.13 0.14 — PA-1000
DBREH2 0. 07 0. 09 — PA-1000
ibis 0.15 0. 15 — PA-1000
Ot ER (1) 0.10 0. 11 — PA-1000
QR &S 0. 06 0. 09 — PA-1000
QI ERED 0.10 0.13 — PA-1000
10-7(B) |@EILED 0. 06 0. 07 — PA-1000
Lrg OB LD 0.11 0. 12 — PA-1000
®ErRED 0. 11 0. 11 — PA-1000
DREBF2 0. 08 0. 09 — PA-1000
whi5 0.13 0.13 — PA-1000
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Ot h i ER (1) 0. 11 0. 11 — PA-1000

QREBZ1 0. 09 0. 09 — PA-1000

QR ERED 0. 07 0. 09 — PA-1000

9./9(A) @REEILED 0. 08 0. 06 — PA-1000
L S BEFE LR 0. 10 0. 11 — PA-1000
@ ERED 0. 07 0. 09 — PA-1000

DREBF2 0. 11 0.12 — PA-1000

fibis 0.14 0. 15 — PA-1000

Ot L ER (1) 0. 08 0.10 — PA-1000

QREHZFT1 0. 06 0.10 — PA-1000

QR ERED 0.15 0. 20 — PA-1000

8./5(H) @REEILED 0. 08 0. 11 — PA-1000
A OB LD 0.10 0.12 — PA-1000
@ ERED 0.14 0.13 — PA-1000

DBREH2 0. 07 0. 09 — PA-1000

ibis 0. 09 0.12 — PA-1000

Ot ER (1) 0. 09 0. 11 — PA-1000

QR &S 0. 05 0. 09 — PA-1000

QI ERED 0. 21 0. 26 — PA-1000

7./3(K) @REALED 0. 09 0. 09 — PA-1000
zY OB LD 0. 09 0.12 — PA-1000
®ErRED 0. 09 0.12 — PA-1000

DREBF2 0. 06 0. 08 — PA-1000

whi5 0. 09 0.13 — PA-1000
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Ot h i ER (1) 0. 09 0.12 — PA-1000
QREBZ1 0. 06 0. 09 — PA-1000
QR ERED 0. 23 0. 28 — PA-1000
6./5(K) @R EALED 0. 07 0. 09 — PA-1000
L S BEFE LR 0.10 0. 13 — PA-1000
@ ERED 0. 11 0.13 — PA-1000
DREBF2 0. 07 0. 09 — PA-1000
fibis 0. 09 0.14 — PA-1000
Ot L ER (1) 0. 11 0.12 — PA-1000
QR &S 0. 07 0. 09 — PA-1000
QR ERED 0. 11 0.13 — PA-1000
5,210k) | @REIE 0. 09 0. 08 — PA-1000
An OB LD 0.10 0. 11 — PA-1000
@ ERED 0.14 0.14 — PA-1000
DBREH2 0. 07 0. 09 — PA-1000
ibis 0.13 0. 15 — PA-1000
Ot ER (1) 0.12 0.12 — PA-1000
QR &S 0. 07 0. 09 — PA-1000
QI ERED 0. 33 0. 29 — PA-1000
4,18(K) |@KREILE 0. 07 0. 08 — PA-1000
Lrg OB LD 0.11 0. 12 — PA-1000
®ErRED 0.16 0.15 — PA-1000
DREBF2 0. 07 0. 09 — PA-1000
whi5 0.12 0. 15 — PA-1000
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HEUPERIZBITAMGHIREERERE
e : B LU 1-6-1
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AlE R -XKix A TE Hh HAIE
= 5cm 50c¢m 100cm AER Lk
1FEE(BN) — 0. 08 0. 08 PA-1000
3 130K) BER FHE(BA) — 0. 08 0.08 PA-1000
IFHE(BA) — 0. 08 0.08 PA-1000
ABEERN) — 0. 06 0. 06 PA-1000
Ot hLER (1) 0. 09 0. 11 0.10 PA-1000
Qi 0.16 0. 16 0. 16 PA-1000
QR RERER 0. 33 0. 28 0. 24 PA-1000
3.6(K) BEn
: @REEALER 0. 09 0. 09 0. 08 PA-1000
O RETEER 0. 11 0.14 0.14 PA-1000
G RErRER 0.14 0. 15 0. 15 PA-1000
Ot hLER (1) 0.12 0.13 0. 11 PA-1000
Qb5 0.17 0.17 0.17 PA-1000
QR RERER 0. 32 0. 29 0. 25 PA-1000
2/7(K) BEn
: @REEALER 0.12 0.13 0.12 PA-1000
O RETEER 0. 11 0.13 0.15 PA-1000
O RERER 0.14 0. 15 0. 15 PA-1000
IFRE=E(BRA) —_ 0. 09 0. 08 PA-1000
ViEES _ _
2 60K T FNE=E(BR) 0. 08 0. 08 PA-1000
SFHE(BNR) — 0. 10 0. 08 PA-1000
AKEEERN — 0. 07 0. 07 PA-1000
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/E“EE iﬂ; /,E‘IIITEHEEE\\ 5em 50cm 100cm /EIIIE% ﬁ%%
IFREE(EN) — 0. 08 0. 09 PA-1000
<, |2FEE(EN) — 0. 09 0.10 PA-1000
12170 B FHE (BA) — 0. 09 0. 09 PA-1000
AEE(EN) — 0. 07 0. 08 PA-1000
O ER (1) 0.12 0.12 0.12 PA-1000
Qb5 0.13 0. 14 0.15 PA-1000
T 254 QLS 0. 37 0. 31 0. 28 PA-1000
1.710(K) BEh |@kEILED 0.15 0.13 0.13 PA-1000
O BEFE &R 0.13 0.17 0. 14 PA-1000
O BEFIAR 0.16 0.15 0.16 PA-1000
IFH=E(BA) — 0. 09 0. 09 PA-1000
<, |[2FZBME(ERN) — 0. 10 0. 09 PA-1000
127140 B FHE(BA) — 0. 07 0. 08 PA-1000
AEEE(EN) — 0. 07 0. 07 PA-1000
O ER (1) 0.13 0.12 0.13 PA-1000
Qb5 0.14 0. 16 0.17 PA-1000
=1, | DRERED 0. 11 0. 14 0. 16 PA-1000
12750K) B @R FEALER 0.14 0.12 0.12 PA-1000
GOREEFER 0. 11 0.13 0. 14 PA-1000
O EERER 0.17 0.17 0.16 PA-1000
IFE=E(BA) — 0. 10 0.10 PA-1000
QFHE (BIN) — 0. 09 0. 09 PA-1000
1712(R) & IFHKE(BN) — 0. 09 0. 09 PA-1000
AELE(EN) — 0. 07 0. 07 PA-1000
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O#hsth i (£) 0.14 0.12 0.13 PA-1000
Qwi% 0.18 0.16 0.16 PA-1000
QR RERER 0. 42 0. 30 0. 25 PA-1000
11.79(F) Bh
L e 0. 14 0 12 0 12 PA-1000
O RETER 0. 11 0.12 0.13 PA-1000
O EEER 0. 21 0.19 0.16 PA-1000
1FEE(BN) — 0. 08 0. 08 PA-1000
QFHE(BMA) — 0. 08 0. 08 PA-1000
10716 () B
X) HER IFHE(BR) — 0. 07 0. 07 PA-1000
ABEEN) — 0. 06 0. 06 PA-1000
OBib i ER (1) 0.12 0.12 0.12 PA-1000
@iz 0.18 0.16 0. 15 PA-1000
QR RERER 0. 35 0. 30 0. 27 PA-1000
1074 B
R B gL 0. 10 0. 12 0. 11 PA-1000
O RETEER 0. 11 0. 15 0.15 PA-1000
O EEER 0.13 0.13 0.14 PA-1000
1F&=E(BR) — 0. 07 0. 08 PA-1000
QFHE (BR) — 0. 09 0. 10 PA-1000
9./18(K) ™
SFHE(BNR) — 0. 07 0. 08 PA-1000
ABEEN) — 0. 06 0. 07 PA-1000
Dt ehHER (1) 0.12 0.13 0.14 PA-1000
Qw5 0. 14 0.14 0. 16 PA-1000
QR RERER 0. 21 0.19 0. 20 PA-1000
9. /1K) Bh
S @ FEALER 0.13 0. 10 0. 11 PA-1000
O EFER 0. 29 0.19 0.17 PA-1000
O RErER 0. 15 0.14 0.13 PA-1000
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1FEZE (BN) — 0. 08 0. 09 PA-1000

QFHE(EN) — 0. 07 0. 08 PA-1000

FHE (BA) — 0. 07 0. 08 PA-1000

AEE(ERN) — 0. 06 0. 06 PA-1000

8.6(H) 2Y-/ Ot L ER (£) 0.14 0.14 0.14 PA-1000

Qb5 0. 30 0. 25 0. 22 PA-1000

QR ERED 0. 20 0. 19 0. 16 PA-1000

@ EEILED 0.13 0.16 0. 15 PA-1000

O EFEED 0. 29 0. 24 0. 23 PA-1000

©REERAR 0. 25 0. 23 0. 21 PA-1000

IFR=E(BA) — 0. 09 0.10 PA-1000

QFH=E(EN) — 0. 09 0. 08 PA-1000

1712(x) W FHE (BA) — 0. 08 0. 08 PA-1000

AKEE(ERN) — 0. 06 0. 07 PA-1000

Ot b ER (1) 0.16 0.15 0.14 PA-1000

Qubi% 0. 24 0. 22 0. 21 PA-1000

v, |OBRERED 0.19 0.18 0.19 PA-1000

1780 B @R REILER 0.17 0.18 0.16 PA-1000

O 0. 29 0. 26 0. 24 PA-1000

O EmRER 0.19 0. 21 0. 20 PA-1000

Ot b ER (1) 0.14 0.14 0.13 PA-1000

Qb5 0.18 0.18 0. 21 PA-1000

=, |DRERSED 0.17 0.17 0.17 PA-1000

613010 &Y @REEILER 0.18 0.18 0.18 PA-1000

O EETEED 0. 23 0. 24 0. 23 PA-1000

O 0. 23 0. 22 0. 19 PA-1000

19/23

(BRS5)



HEUPERIZBITAMGHIREERERE
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Al KA SR 5E Hh g AlE
2l 5E B - X% Bl 7E th — — o Bl E 25 "E
1FEE(BN) — 0. 08 0. 08 PA-1000
QFHE(EBMA) — 0. 08 0. 09 PA-1000
67120 M) R
() IFHE(EBA) — 0. 08 0.08 PA-1000
ABEEN) — 0. 07 0. 07 PA-1000
1FEE(BN) — 0. 09 0.10 PA-1000
QFHE(BMA) — 0. 08 0. 09 PA-1000
5/15(0N) R
() @ IFHE(EBA) — 0. 07 0. 09 PA-1000
ABEEN) — 0. 07 0. 06 PA-1000
Ot chHER (1) 0. 15 0. 15 0.13 PA-1000
@iz 0. 16 0. 20 0. 22 PA-1000
= |ORERE 0. 38 0. 36 0. 28 PA-1000
510 =l
(F) &Y @R FEALER 0. 19 0.17 0.16 PA-1000
O RETEER 0. 32 0. 27 0. 24 PA-1000
©BEERAR 0. 23 0. 21 0.18 PA-1000
1FEZE (BA) — 0.08 0. 09 PA-1000
QFHE(BMA) — 0. 07 0. 09 PA-1000
4,23 R
(A ® Lrg=Emn) — 0. 08 0 00 | PA-1000
ABEEN) — 0. 07 0. 06 PA-1000
Dt ehHER (1) 0.18 0.17 0.17 PA-1000
Qi 0. 22 0. 21 0. 21 PA-1000
QR RERER 0.17 0. 16 0.17 PA-1000
413(%) B
(&) B @R REALER 0.19 0.19 0.18 PA-1000
O RETEER 0. 27 0. 28 0. 24 PA-1000
O RErEER 0. 23 0. 24 0. 23 PA-1000
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Al KA SR 5E Hh g AlE
2l 5E B - X% Bl 7E th — — o Bl E 25 "E
1FEE(BN) — 0.10 0. 08 PA-1000
QFHE(EBMA) — 0. 09 0. 09 PA-1000
32107 &
(k) #n IFHE(BR) — 0. 08 0. 08 PA-1000
ABEEN) — 0. 07 0. 06 PA-1000
OBib i ER (1) 0. 16 0. 16 0. 15 PA-1000
@iz 0.18 0.19 0. 21 PA-1000
QR RERER 0. 15 0.18 0. 19 PA-1000
313(K) B
SR e 0. 27 0. 26 0. 24 PA-1000
O RETEER 0. 23 0. 26 0. 24 PA-1000
©REREE 0. 20 0.22 0.24 PA-1000
1FEZE (BA) — 0. 09 0. 08 PA-1000
= |2F&ZE(EBRN) — 0. 07 0. 08 PA-1000
216 =L
() / IFHE(BA) — 0.08 0. 08 PA-1000
ABEEN) — 0. 07 0. 06 PA-1000
Ot chHER (1) — 0.18 0.18 PA-1000
@iz 0.16 0. 21 0. 21 PA-1000
QR RERER — 0. 24 0. 26 PA-1000
2/10Kk) BEh
k) B @RBEILER — 0.14 0.14 PA-1000
O RETEER — 0. 27 0. 25 PA-1000
O EREE — 0. 24 0. 23 PA-1000
1IFBIRE (BN) — 0. 08 0. 08 PA-1000
FKEE(BA) — 0. 08 0. 09 PA-1000
118 s
k) Bn IFHE(BR) — 0. 06 0. 07 PA-1000
ABEEN) — 0. 08 0. 08 PA-1000
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O DL ER (1) — 0.17 0.18 PA-1000
QFbi5 0.16 0. 21 — PA-1000
T 244 QLS — 0. 29 — PA-1000
1.712(K) BBEh |@REIE — 0.16 _ PA-1000
O BEFE &R — 0. 29 — PA-1000
O BEFIAR — 0. 26 — PA-1000
IFREOEA) — — 0. 10 PA-1000
=, RFEEEER) — — 0. 09 PA-1000
127140K) &Y FHE (BA) — — 0. 09 PA-1000
AEE(EN) — — 0. 07 PA-1000
Bt ER () — 0.18 0.16 PA-1000
=, |25 0.17 — — PA-1000
L s — 0 27 — PA1000
FER/ N\ IR YRR — 0. 36 — PA-1000
Efharme — 0. 24 — PA-1000
ESHIRRATZ — 0. 33 — PA-1000
11.728(R) BN |2 — 0. 27 — PA-1000
7 {45 2 AR 7 B UK — 0. 30 — PA-1000
IEF9fZ — 0. 25 — PA-1000
1FHE(BRN) — 0. 08 — PA-1000
QFHE(BA) — 0. 08 — PA-1000
11.7220K) BN |3F%=(BA) — 0. 08 — PA-1000
AFHE (BA) — 0. 08 — PA-1000
AELE(EN) — 0. 08 — PA-1000
Ly negs |EUEEDER (L) — 0.19 0.19 PA-1000
17150%) B Wi 0. 14 —_ — PA-1000
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IFH=E(BA) — 0. 08 — PA-1000
2QFHE (BA) — 0. 08 — PA-1000
FHE (BA) — 0. 07 — PA-1000
AFEZE (BWN) — 0. 07 — PA-1000
=, |AEEER) — 0. 08 — PA-1000
10720(#) &Y AELMT — 0. 25 — PA-1000
ESHIRIE BB — 0. 32 — PA-1000
N3y ERE — 0. 38 — PA-1000
AmEL2 — 0. 33 — PA-1000
1E P4 1A% — 0.17 — PA-1000
IFH=E(BA) — 0. 07 — PA-1000
2QFHE (BA) — 0. 08 — PA-1000
FHE (BA) — 0. 07 — PA-1000
AFEE (BWN) — 0. 07 — PA-1000
v o=y |ABEER) — 0. 07 — PA-1000
s/20(%) &Y AELNT — 0. 28 — PA-1000
ESHIRIE BB — 0. 32 — PA-1000
Ny MERE — 0. 29 — PA-1000
MEL2 — 0. 33 — PA-1000
1E P4 1{A1iE — 0. 22 — PA-1000
1FHE(BN) — 0. 10 — PA-1000
T 234 2QFHZE (BA) — 0. 08 — PA-1000
8.726(K) Bh [sr&=(ER) — 0. 09 — PA-1000
AELE(EN) — 0.10 — PA-1000
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